)

2)

3)

4)

Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for the use in School Based Summative Assessment-
II, March-2012 only. This question paper is not to be used for any other purpose except
mentioned above under any circumstances.

The intellectual material contained in the question paper is the exclusive property of
Central Board of Secondary Education and no one including the user school is allowed to
publish, print or convey (by any means) to any person not authorised by the Board in this
regard.

The School Principal is responsible for the safe custody of the question paper or any other
material sent by the Central Board of Secondary Education in connection with School
based SA-II, March-2012, in any form including the print-outs, compact-disc or any other
electronic form.

Any violation of the terms and conditions mentioned above may result in the action
criminal or civil under the applicable laws/byelaws against the offenders/defaulters.

Note:

Please ensure that these instructions are not printed with the question

paper being administered to the examinees.
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SUMMATIVE ASSESSMENT - II, 2012 67011
Gehterd udrarm - 11, 2012
SCIENCE / fag=
Class - X/ &l - X

Time allowed : 3 hours Maximum Marks : 80

fuifta vw= : 3 9ue Jfereran 37 : 80

General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(if) All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 4 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Question numbers 5 to 13 in Section-A are two marks questions. These are to be answered
in about 30 words each.

(vii) Question numbers 14 to 22 in Section-A are three marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 23 to 25 in Section-A are five marks questions. These are to be answered
in about 70 words each.

(ix)  Question numbers 26 to 41 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

qrar= fdar

() T U I I ST U, UTT-37 ST UFI-a § 9T T | SR S 9T R I ok IR fae
g

(i) =+ T sfame €1

(i) I U U W BE TG YH Tl €, e WH-TiF Rl F U= g B Al =9q e e oA
T § 319 hael Uk il =99 i SR foe & fa 97 ged ©

(iv)  STTTeRT WTT-31 TR UT-o &% Tt Te1 o S JIF-gereh ferad g |

(v)  WTI-37 % T H&A1 19 4 % YT Ueh-Teh 3eh o & | STk S Ueh YT 1o Weh QTR § & |

(vi) ~ WT-37 % Y9 HE&AT 5 § 13 % Y G1-a ekl & ¢ | Tk S N 30 oTsal H o €|

(vii) ~ TT-3T7 % Y9 HEAT 14 § 22 3 T -1 Fehl & & | Tk U A 50 9Tal o <7 2 |

(viii) WRT-37 % Y¥F H&I 23 ¥ 25 F Y¥9 Urel-UT ekl o & | TToh AL T 70 91eat & < T |

(ix) ~ HTT-& % T HEAT 26 T 41 F T TANTHSE iRl R TG Tgfashed 797 €1 T 97 Teh
3R H1 T U T =R fashedi #§ 9 ATIR] Had Tk o SUGH fahed T2 |
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10.

SECTION-A / WFT-37

Write the formula of the functional group present in alcohols.

TEhRId § IUFed Yehrdcash THE 1 A fafaw |

Give the range of normal human eye.

AT 3G b ford gl &1 W fefed|

Why is food chain having two steps most advantageous in terms of energy ?

Sl bt gfte T S =)0 il SARR WA SFAF ATHHR F Sl § 2

Identify which one of the following would have hazardous impact if it persists in the environment
for a longtime :
Banana - peel, animal bones, husk of wheat, D.D.T.

frafafead § 9 9aieror § o T99 9% 91 & 6l [ohTehl Y1e ehahR] BT 2
el <1 feserent, Sital sl sfga, 1 1 &1, D.D.T.

(i) Where would you locate the element with electronic configuration 2, 8 in the modern
Periodic Table ?
(ii) Out of two elements potassium and sodium which one can lose electron easily ? Give

reason for your answer.

() Tk T T T e WA (2, 8) €, U Y Mk e WRoft ¥ kel i ?
() &l - deferm iR difeqw, § 4 $F @ 9 § @ golae grEagE e gehd € 2 ST 3
I Gied fafEy)

On which side of the Modern Periodic Table, will you find metals ? Are they electropositive or
electronegative ? Justify your answer.

s o7t AReit H oTqd IRoN o R oIR feorg €2 g faegd oAt 2t § st fawa o 2
3TY1 IR hRT Higd HHSY |

Name the plant that reproduces through leaves. List two advantages of this way of
reproduction.

3g Uiy &l 17 i@y S 319 ufadl & gRT Uslad Hidal &1 Ustad 6t 39 f[afy
& PS ar ey |

List two functions performed by testes in males.

qEul 3 gUURHIT & gRT R ST arel & e fafE|

Draw a labelled ray diagram for a lens which forms virtual and magnified image of an
object.

fopell o @ 3mael ve faafda ufafaes aaer gufe & for  amifed for sma
i |
Briefly explain myopia. How it can be corrected ?

AT @ GfarE # FAeTsY | 38 fRE UeR gy R ST aar § 2
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11.

12.

13.

14.

15.

16.

17.

Mention any two natural phenomenon that occur due to scattering of light.

PIS &Y UTpfae TRt & a1 @Y St gorr & whiofa & HRoT 8t §

How were coal and Petroleum formed ?
Name the products formed after burning of the above fossil fuels.

Hrae IR Yiferam w1 fafor fha yeRr gen ?
S g3 T Starst oMl & g8 9 W 3aure) & W fafew )

—~ N /S~
RPN

Write two disadvantages of planting only one type of trees in forests.

A1 § T B YN % g&1 N 9 Sca g <l Bl e |

What is a micelle ? Explain the mechanism of cleansing action of soaps.

e ford e 2 e[ it A wferen &t fepenfafy woemew

The following table shows the variation of atomic size of the elements of the second period :
Period Il elements: B Be O N Li C
Atomic radius (pm): 88 111 66 74 152 77

(@) Write the full form of unit ‘pm’ used as a measure of atomic radii. Write the relation
between pm and m (meter).

(b) Write the names of elements which have the largest and the smallest atoms ?

() How does the atomic radius change as you go from left to right in a period ?

e qfetent SHY oT/ed o Al < TATE i |ies § IRedd I qeid ©

THL 3T o ad : B Be O N Li C

W] 5 (pm¥ ) 88 111 66 74 152 77

() oA B o ford SRINT o TS SR pm 1 YU A fAfay qen sHe Hiet § wver fafen )

(b) 3 qeEl & A fafaw fSeR T () FEE a9 a9 (i) IO DR ¥

() 9 TF e B ¢ § Qi W § @ ] e {69 YR St 82 319 S R0 afEd
fefam |

Draw a diagram showing the longitudinal section of a flower and label on it stigma,
ovary, anthers, filament

fopdl qou & g & e &1 BT aasd 3N sEA Qe w1 AR B -
afderar, 33T, WRITHILT, dq

(1) When Mendel crossed tall pea plants (TT) with short pea plants (tt), what were the results
in the first generation ?

(ii) What results did he obtained when he self pollinated the plants obtained from the first
generation ?

(iii) =~ What conclusion did he reach after the second cross ?

() 9 Hed A WX & A W (TT) I GROT HX & s W (t) F L HIA A 397 999 Gard
et ® R iomy g foRd ?

(i) 9 SHT YW Hafd Wer ok el Sl WA §RI SR a6 36 941 qRom i foRd ?

(i)  THN TR RO LA & oS I8 ford Frsehd T ug=n 2
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18.

19.

20.

21.

22,

Define variation in context of development of species.

Why is tendency to variation during reproduction is beneficial for a species ? Write any
two reasons.

el & faerme & g # fafimmar o uftwfia it |
S sk o fafierr st ygfa fordt Toeis o ford fha yehR airvreridt Bl & 2

In fruit flies the sex chromosomes in males is XY and in females is XX.

()
(i)

(ii)

Does a male fly inherit X chromosome from his mother or father ?
How many different types of gametes can a female fly produce ?
How many different types of gametes can a male fly produce ?

el warelt B fel o R H Xy iR wrer # XX 39 ¥

(i)
(i)

(i)

T Hel X TURLE STO A | U6 Rt & steran fuar & 2
1T A foha fafis Tohm & Jraeh S 9 Hehdl 2
R Tl T fafis yehR & g Sca=1 Y Gehell © 2

A dentist uses a mirror in front of a decayed tooth at a distance of 4 cm from the tooth
to get a 4 times magnified image in the mirror. Use mirror formula to find the focal
length and nature of the mirror used.

S ged fAfhede fohdl gdor @ &R ad ¥ 4 cm g0 W WA 3 &id @1 ot
H 4 7 IEfT gfafded d@ar &1 UUT-gF &1 3UANT FXh GUUT B BlEH gl a7
gyur & ypfa A1 S|

Define the term refraction of light. Draw ray diagram to show the refraction through
a glass slab and label the following.

(@) angle of incidence
(b) refracted ray

(c) lateral displacement

U1 & Udda Hr gRemT ff@u| &g & AdhR Told & R geprer fopor or
3Tadd gy & forw geprer fopoT 3@ difw 3R [eafaf@a &1 AdApa Hifaw |
@) 3Ude BIoT

(b)  3uafda fezor

©) aTifes faeame

A student wants to read a book by placing it at a distance of 25 cm from his eye. He
finds it difficult to read. He has to move the book away from him to see it clearly.
Which defect is he suffering from ? Draw the ray diagram to explain the defect in his
eye. Also draw a ray diagram to illustrate how this defect is corrected.
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23.

24.

ueh faaneff sahr 3@ @ 25 cm g T Th EAP Bl USAT ARl § Wed 39 39
UG H Tgd BIoAS oIl ¥l 38 TAE ST & O GFad Y 0N @ § g o
ST U3 1 a8 fra UyeR & e & fifda &2 sael gerema & o fvor 3ma
i | 3N & FeIdl § FAssd & 38 v & fhH UhR gy fhar Srdm &

(@)  Write the chemical equation when ethnoic acid reacts with
(i) Ethanol
(i) Sodium carbonate and
(iif) Sodium hydroxide.
(b)  Give reasons for the following :
(i) Unsaturated hydrocarbons show addition reaction.
(if) Covalent compounds are generally poor conductors of electricity.

(a) TR TR fafae /@ TaAtsw v siffshan e €
(i) UIATSA & WY
(i) wfeas HEHE SR
(iii) Gifead TESHETEE & WY
(b) Frefeiad & wrRoT e ifsd -
(i) TS SESIHEA Hehaor AFIfsha wYd F )
(i) TGN 3T At AT faed & Fmes o § |

OR/3an
(@) Name the followi% compounds :
H O H H HH
| 1 | | | |
H—-C-C—~C—H H—U—~0~L—C=0 O
| | I [ I
(i) H H (i) H HH (i) H-C-OH

(b) How can ethanol be oxidised to ethanoic acid ? Write its chemical equation. Why is reaction
called oxidation reaction ?

(a) 7= Aifireni < = fafed -

H O H H H HH
| Il I | | | |
H-C-C-C-H H-C-C-C-C=0 O
I I | | | I
(i) H H (i) H H H (i) H-C-OH

(b) UG &I TIATew o7a H form wohR sfiadiopa foram s gerar €2 39 sifufsran o1 v
TR fafad | 50 safufshan i siferdieRzor siffspan st hed 2

Draw labelled diagram of human male reproductive system and show the location of
the following events.

(@) Formation of sperms.

(b) Formation of seminal fluid

HATAT-eR Al ded Pl ATHDhd T I8y AR g AT SATST el o<l fohard aich
% -

(a) 2APTI3HT T Tl
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25.

26.

(b) LHT FTE BT TAAT
OR/31ar

a) Differentiate between self pollination and cross pollination.

=

Mention two advantages of vegetative propagation.
Draw labelled diagram of germination of pollen on stigma.

a) FIWET IR WREOT # 3eR TqE HfG|
b) F¥F gada & P$ af Ay A
c) afddT W WIETRUT & IGR0T @ & ferwarAifehd T aasd|

A~ AN NN S~
(@)
~

Name the type of mirror that should be used to obtain (a) a magnified virtual image (b) a
diminished virtual image. Draw labelled ray diagrams to show the formation of required image
in each case. Which of these mirrors could also be used to form a magnified real image of the
object ? Justify your answer by drawing ray diagram for the same.

39 gUUT & YR & A7 faf@e Saer suaer (o) Rafda snemd ufafees (b) oter smemd
gfafes gaa & fFar ST § 2 uds gawor # ufdfiea aadar gete & fow aaifea fomor
INT iU 57 vt F @ A o1 3uAeT e o1 [Qafta aedafae ufafes ga= §&
fopar ST |har ® 2 3 3TR A gEY & forw garer oo 3ma difdw)

OR/3rar

(@) A 4 cm tall object is placed at 25 cm in front of a convex lens of focal length 15 cm. Use lens
formula to find the position, size and nature of the image formed.

(b) Draw ray diagrams to show the principal focus in case of a (i) convex lens (ii) concave lens.

(@) 4 cm oFT P FFT 15 cm B GU F 3l ¥ & GHA 25 cm G W W@ ¢l FHF
H 3UINT b gl arel ufataed 1 Rufa, assr 3R gepfad aa Hifaw
(b) (i) 3T o, (ii) IaTS SH FT HET BIhd YT FHI0T INT@ Tiaax g2Mzv|

SECTION - B / HT-&

A student performed the following four experiments :

CuSO, (aq) CuSO, (aq) CuSO, (aq) CuSO, (aq)
Al Zn Fe Cu

) (In (IIT) (IV)
He would find formation of solid deposition in experiments :
(@ IL1III (b LII (c) LILII (d) ILII, IV
fordt B 7 1= ST SI9R =R 94 &
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27.

28.

29.

30.

CuS0, (aq) CuSO, (aq) CuS0, (aq) CuSO, (aq)
Al Zn Fe Cu

M (In) Y (V)
e f5 wam | 3 e e, 9 €

(@) ILIII (b)y LII (¢ LILII (d) II, I, IV
An Iron nail was kept immersed in Al>(SO4)3 solution. After about an hour, it was observed that :
(a) the colourless solution change to light green
(b) the solution becomes warm
() grey metal deposited on the iron nail
(d) the solution remains colourless and no deposition is observed on iron nail.

fohdil STET hl hie Sl Alp(SOu)s Torer@s H Gollh T@1 7911 TTHT Teh B < U9=1d F&T0T hid T I8
RIRIKICIRCIE

@) A faerad goe &0 & T B

(b)y  foeEm & R

()  3TRA ot shict W ER uig Fafad & =i &

(d)  faoe T € Tl € IR SRRE # Fid W R e TE S

A student added 1.0g of NaHCOs to a test tube containing 5 mL of acetic acid. He observed
(@) NaHCO:s floats on the surface of acetic acid

(b)  NaHCOs reacts with acetic acid and a clear solution is obtained
()  NaHCO:s settles down in the test tube
(d) NaHCOs3 remains suspended in the test tube and no reaction is observed

forelt B 7 @t H 5 mlL THifewR st oo SHH 1.0g NaHCO3 STl | 98101 i WX S84 9T fof
(a) NaHCO; THifes 377 WR @ 2|

(b)  NaHCO; UHifes atvat & Ifufsran xar § &R W= faaa um 2ar 2|

() NaHCO, W& i qeft H 33 a1 g |

(d) NaHCO; Waei # feiferd war € o) sifufsran & 2t |

(@) Smells like vinegar and turns blue litmus red
(b) Smells like vinegar and turns red litmus blue
() appear like water and gives no smell

(d) Smells like orange and turns blue litmus red

UHfifesh 317t 1 U&T01 had & TvEd HiE O 98 fh feral Tahan § for TEfifes st o1 o faerm
(@) o St iy <1 § SR el fofeny &l o S S g

(b)  fo¥es St vy a1 § SR e forend @l e e B

() St fewrg S € f9ed 18 e e St |

(d) G SIE Ty S § @R A forens w1 e e S

On adding a solution of a substance ‘X’ to acetic acid, a colourless and odurless gas Y is formed
which turns lime water milky. Substance ‘X" is :
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31.

32.

33.

(@) Sodium Chloride (b) Sodium Bicarbonate
() Calcium Hydroxide (d) Ammonium Chloride

Teifess st § forelt gerel X’ & faeras 1 faam W & 79 Y’ frerardt ® S5 & 9T 1 gfemn o <t
IR HE DG

(@)  Hifesw FAREe (b)  Hifeaw FEHEME

() i sEelaRe d) oI wiREe

A student obtains a blurred image of an object on a screen by using a concave mirror. In order to
obtain a sharp image on the screen, he will have to shift the mirror :

(@)  towards the screen

(b)  away from the screen

(c) either towards or away from the screen depending upon the position of the object.

(d)  toa position very far away from the screen.

HIE B A U gRI forddt fora 1 o< W eeren yfafare a@mm €1 o< W 39 giafers sl de0 59 &
fo 3 <dor il TR ST

(@) Ua SR

(b) TWIHH

(€) A TS A AR 1an 7 ¥ R 7 fora ot fearfa w fasie s @

d) T H Frw R fonet feafa w

A student obtained a sharp image of the grill of a window on a screen, using a convex lens. For
getting better results, the teacher suggested focussing of a distant tree instead of the grill. In which
direction should the lens be moved for this purpose ?

(@  Away from the screen (b) Very far away from the screen

(c)  Behind the screen (d) Towards the screen

et B 1 390 o9 g1 fags! =t e @1 gfdfora 9 W wisfaa foean | S99 aRom g & & fag
3ok a7 ARIGT 7 Il o T WX fordll Y J&7 1 Tishiad Hid o T Fal| 39 & & w39 o™
1 fohg 3R TLhFT B 2

@) WIEF (b) TS | HIEN T

(© wWEd (d) W@ SR

For finding the focal length of a convex lens by obtaining the image of a distant object, one should
use as the object :

(@) awelllit distant tree

(b)  window grill in the laboratory

(c)  any distant building

(d) alighted candle kept at the other end of the table

forelt guer fora o1 < OX Hfdfora Wt ot ST o9 1 WikRd g4 J1d i o fag fedt = =1 fovra &

€9 T JIRT LT AT -
(@)  welrifd wei e gat
(b) AT i faewt wi i
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34.

35.

36.

() TIE I Had
(d) S % O TR O STerd] HiHerit

A student does the experiment on tracing the path of a ray of light passing through a rectangular
glass slab. He can get a correct measure of the angles of incidence and the angle of emergence by
following the labeling indicated in figure :

\ \3
™~

(A) (8) (C) )

DTS B TRl THRT AT fH00 1, S 9 19 & AR Wie A ol , 9 IRIGT A hl TART Ha |
T = feu Tu ford o & SATIaH 19T U I 197 o AHihAT o §RT 7 IV hi Tel A T TRl § ?

(A) (8) (C) )

@ A (b) B © C (d D

In the experiment to trace the path of a ray of light through a rectangular glass slab using pins P,
Py, P3, P4 four students did the following :

(A) Kept the eyes far from the glass slab while placing both the pins P3 and Pa.

(B)  Kept the eyes close to the glass slab while placing both the pins P3 and Pa.

(C)  Kept the eyes far from the glass slab while placing pin P3 and close to the glass slab while

placing pin Pa.

(D) Kept the eyes close to the glass slab while placing pin P3 and far from the glass slab while
placing pin Pa.

The correct procedure is that of student :

@ A (b) B © C (d) D

et SAIaR FiE & Wi ¥ TeRA drelt JhEl-fRtor o1 a9 =9R U5 Py, Py, P, & Py & SUAM g
STRFEA Y o JAM I IR B A = T 78R R :-

(A) o P; P4 IHT I T HHA ST 31 Rl i R wiE 9 P @M

(B) T P3Py 3! I TG HHI 7T 31 hl Hid oh Widl o (e @ |

(C) T P; 1 I T i & I | R a9 7 Py 1 & 90 Wie o ke @)

(D) i P; 1 &0 99 &I & wId & Fere a9 fF Py &l @ 999 e 9 X 3@ |

for o A el fafyr STaam of ?

@ A (b) B © C d D

A student was asked to observe permanent slide of binary fission in amoeba, under a microscope.
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37.

Steps to focus the slide under microscope are given below, but these are not in correct order-

(i) keep the slide on the platform, see through eye piece. With the help of mirror and
diaphragm adjust for sufficient light.

(if) see through eye piece. Raise the objective lens with the help of coarse adjustment and focus
the slide.

(iii) ~ with the help of fine adjustment make focus clear

(iv)  see through eye piece and move the slide till the object is seen clearly.

Correct order of steps is -

(@ (i) (i), (iv), (i) (b) (i), (i), (iv), (i)

() (i), (i), (i), (i) (d) @) (iv), (i), (i)

T faenef @ stien & fgmieT # TR WEe + Yauael g <EH % {69 #El T HEhhd §RI

TATEE Tl et T o =101 A o T4 € i1 fob &t A § 7181 © -

() RS H HA (RITwH) W MG | A & gR SfEd SR U0 T4 SREM gR FqfEd TRl 3
o warEnfSa s |

(i) AR % gN SfEd | Mg W9 HI 3H RIS FHMEISH e S HeEdl § 38d iR wEe
! HIRY hIfSH |

(ili) Y& THRESH i TEHA § R T BRI St |

(v) e @ e ik wiEe *1 HuwR aed 5@ qh 9w 9 T2 fear |

T HAE -

(@ (1), (i), (iv), (i) (b) (i), (i), (v), (i)
(€ (iv), (i), (i), () (d) (@), @v), (i) (i)
Binary fission of amoeba is shown in figures given below. But these are not in correct sequence -
e "H\'\.‘.
. - 2 I
(i) (1) (1v)
Correct sequence is -
(@ (i), (i), (iv), (i) (b) (i), (i), (iv), (i)
(€ (), (i), (i), (i) (d) (i), @v), (i), ()

Tt % fgoied & i 3o foa i & & < for ot hm o T € -

{1} {it) i) {iv)
T HAE -
(@ (i), (@), @), (i) (b) (i), (i), (iv), (i)
(© (), (i), (i), (i) (d) (i), (iv), (i), ()
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38.

39.

40.

In the figure of budding in yeast given below, structures A, B, C and D should be labelled

respectively as :

(8— 1
B
C
D

nucleus of bud, bud, yeast, nucleus of yeast
dividing nucleus of bud, bud, yeast, nucleus of yeast
nucleus of bud, bud, yeast, dividing nucleus
dividing nucleus of yeast, yeast, bud, nucleus of bud

I eI T AR ® ggpad & TRE | A, B, C 991 D &1 SN HI% 36 YhR a1 ST A1f6T

(O— 0
B

s
D
a) HEd kI hraeh, Yoo, A, A 1 hseh
b) HEHA 1 AN BT Sheseh, o, Aee, A F 1 ke
¢) HHd FI hraeh, Yopd, A%, fauiiad gl e
d) I 1 fauifSia g s, A, qehel, G 6l o

NOIGIC

o~~~ o~
O —

o~~~ o~

The following are sketches made by four students A, B, C and D. The sketch not illustrative of
budding in yeast is :

cdifis I yeas e r
- ®
/jy : (";‘ _q':)' Z)
7w
@ A (b) B @ C (d D
IR BHEI A, B, C AL D < 9T 7T 3@ G | 395 A HIF 1 3IRG A H Yoot <l T <9It ?
— ' |
o @ .
/y 2 ("‘..-’ ‘E(:!'é’
&7 w |
@ A (b) B

A student soaked 5 g of raisins in 25 mL of distilled water in each of two beakers A and B. Beaker
A was maintained at 25°C and beaker B at 50°C. After one hour, the student observed that the
water absorbed by the raisins was :

(@) same in case of A and B (b) lessin case of A than B

(c) exactly doublein A of thatin B. (d) exactly four times in A of that in B.

T fomnedt 7 5 g foRofier 25 mL ST 51 § St A SR B H i | et A &1 q9EE 25°C @M 3R
SR B 1 50°C W | Tk B o o1g 39 faeneft =7 9&107 fonan fof forwifomtl & g eraeifya <9 =t om0
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41.

(a) A RBH THEAM off | (b) AT BRI 37U A off |

(c) AH BRI 37U&T <1 T[T off | (d) A ¥ B! U AR AT |

The correct formula for calculation of percentage of water absorbed by raisins is :

(Weight of dry raisin = x1)
(Weight of wet raisin = x»)
(a) 7% o100 (b) 27X o100
X1 X1
(© —L— x 100 @ 2= %100
2 - X X2

forafiretl o gRT STereiford STe1 1 frera A 09 A 1 9 93 T
(Y@t fRerfiel o1 g9 = xy)
(T foRmfasll =1 gomH = )

(a) Lo S} x 100 (b) 20 x 100

X1 X1
(© —L1— x 100 @ 271 x 100
X2 — X1 X2
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